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T4 | ARk &E (3) T

TR T R A E R POK B EE (3) T

moH 4 B & Hifr & H =
1 Lk 55, 367, 000
2« Trlil 417, 236, 000
3 i e 36, 329, 000
4 - - FEETEE 32, 460, 000
5 -« -« - EHELFEE (ERILERD 1.000 = 21,520, 000
6 - -« - [EETHEH (R 1.000 = 4, 940, 000
7 - - BBET A 14,776, 000
8 - - - JLIR{GREE 3, 869, 000
9 - - - - REHR R IR M 1.000 Y 0
10 - - - - AR~ B
(4+9+22+23+28+31-33-34-35) x ((HRAE{E+4# IE {E+4f IE {B) *4# 1E {E 48 [E )
31, 809, 000 x ((9.540*1. 200+0. 000) *1. 000%1. 040) 11.910 % 3,788, 000
11 Bk [ 1.000 K 0
12 Hefi g 1.000 s 0
13 =« - @A 1. 000 Y 0
14 - - - - BB 1. 000 N 71, 000
15« - - FEINEPRTR 1.000 M 10, 000
16 - - - - e 1.000 | & 0
17 -« - - BUBBSTGEY 0
18 + « - - - BB SRR (i)
(4+22+29-30) x (1Z#fi)
30, 836, 000 x (0. 000) 0. 000 % 0
19 o - - BB SR (BT 1. 000 = 0
20 - - - BIGYESY
(4+8+22+23+24+27-33-35) X ((ARHEE 47 IE fiH) 48 IE {847 1F {16 +4 1F 6+ IE (B IE {iE)
35, 678, 000 x ((26. 220%1. 100) *1. 000x1. 060+0. 000+0. 000-0. 000) 30.570 % 10, 907, 000
21 - - - THBEESICHE ) SUSHER S O 11 1.000 A 0
22 - - EAVER (BT 1. 000 = 0
23 - - IV CREHKPIIL) 1. 000 E 0
24 - - EAVEE (B L - FEHERPHIEERL) 1. 000 E 0
25 - fREPRET
(4+7-33-35) x (HZ4E {4 iF fiE +{R 5E 2 5)
46, 585, 000 x (17. 400*1. 000+0. 04) 17. 440 % 8,124, 000
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27 a1 0
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EETIEE (REIZKRO
21, 520, 000
- KERERIE TS
1. 000 =® 21, 520, 000
-xT
1. 000 = 3, 835, 000
T 1 K&y
1. 000 = 3,834,932 3,834,932 | BH 18
SR T (RS WA - HA
100kg, 72 L, 0. 50m 86. 000 nit 1,902 163,572 | S¥ 3458
MR R T (SRR E S 5) A - HA
100kg, 72 L, 0. 50m 58. 000 uf 1,902 110,316 | SHE 354
PRYE T HA - HA
B, LELS OB, - - 171. 000 n3 1, 866 330,282 | sHi 43%
HUBR L OISR L 1) A A
111. 000 n3 3,989 442,719 | TH 1%
B (N J5dh ) HA - HA
+i 219. 000 uf 239 52,341 | s 27
IR b2 T A - HA
ot R, L, ML 245. 000 m3 268 65,660 | S 447
Fehe/ A (BbkE, E= ) A - HA
Y« W5F - FEA, 100mA i 311. 000 m3 699 217,389 | s¥ 78
BROZPIN HA - HA
+-#5, 1550, 000m3 A 311. 000 n3 188.5 58,624 | S 395
FRAER (B E) HA - HA
311. 000 n3 5,993 1,863,823 | TH 2%
H— R L —Lifds - I T A - HA
38. 900 m 3,140 122,146 | T# 3%
FIFY=y =y [IEEY 77 5 Pt 3L (1 - 27 - 33K) | AA - HA
F77v=/ V= GRIEMEEY 7" %), 25ton i ¥ 8. 000 H 51, 000 408,000 | sHi 245
it 3,834,932
& E 3,834,932
- - RE (BHR) BT
1. 000 =® 23, 685, 000
BE (R BT 1KY
1.000 = 23, 685, 103 23,685, 103 | B¥ 2%
SP FERERA AA - HA
7.5emPA F, gt B9 5, A U, FAEITv4T7 RC-40 40~Omm 174. 000 o 994.1 172,973 | SHi 48%
BlL=rzU—F (18—8—25(20)BB) HA A
SR - BRABAEIEY), 207 ) - b V7" BLETER, 10m32A L 100m3 A, —fRFE/E, 10. 000 w3 26, 150 261,500 | SHt 497
JERMEL, -, -, , A F
SP I BA - HA
A, 1 Lav )b 23.000 uf 4,432 101,936 | SH 514
#E A - HA
M, MERREEY), 20 L 10. 000 n3 693 6,930 | SH 20%
Wgar 7Y —hk 18—12—25(20)BB A - A
A - BB, 2V ) - V7" BUATRR, 10m32A L 100m3AH, — ka8, 353. 000 n3 26, 150 9,230,950 | s 50%
IRMEL, -, -, , AR
ek A HA
AR, MR, 20 L 353. 000 m3 693 244,629 | S 20%
Befr (HR) BMT JEA - BEA
1, 044. 000 uf 9, 757 10,186,308 | TH. 4%
SPH Mtk HEA - LA
B 9%, HHUR (22 504K) t=10mm 57. 000 i 1,812 103,284 | s{ 524
AL B T HA - HA
ARG L, 14 TMpa 1, 613. 000 nt 1,253 2,021,089 | sH 237
FeiaE A A
SEE LA B IR L 390. 000 ut 1,807 704, 730
WA ) fifb e =8 WA HEA
HREVU £250 4. Om 0.160 S 8,180 1,309
BEAR ) e = FA A
WAV #8300 4. Om 0.375 A 13, 200 4,950
BEAR ) Hifb e = A A
HAEVU 600 4. Om 0.125 A 56, 700 7,088
T 4X50X50 HEA - HA
7,022, 700 kg 84 589, 907
PR Nd A - HA
1300 @19 24. 000 1 1,980 47,520
it 23, 685, 103
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© s Y—FEGhT
1. 000 = 50, 000
Y— ARSI = D AMEEET 1 KBy
1. 000 = 49, 594 49,594 | BH 3%
ECAVEYZS (| X u N ¢ N ] BA - HLA
A-IVEL 1. 5m, 707" my), BRI 8.000 m 2,296 18,368 | SH¥ 5%
9 b7z T (RIK) A - HA
1.5m, A-IVA, Q%35 (e i Aehl, 2. 0m, HEXEHEX 8.000 m 1,583 12,664 | s 3%
T b7/ AET () HEA - A
H - B, PRI 1. 000 i 8,025 8,025 | SH 6%
[ IVEZ SN A - HLA
1. 5m, B =t - 1. 000 L 10, 537 10,537 | s 4%
it 49,594
A& § 49,594
© o EEHUIT
1. 000 =® 2, 165, 000
TEHUT (B 1A 1KY
1. 000 =® 1,056, 104 1,056,104 | BE 48
KE+DH T A - A
B, - AL, I3, K0 H48 7L, e L 70. 000 1% 3,877 271,390 | sH¥ 2558
KA T FERGARTH) HA - HA
L4, ANRASE (fE ) 70. 000 m3 926.4 64,848 | s 105
R |- A - HA
IR, N )9 11150, 28m3 CEFE0. 2m3),, 14 CABE- EAIR Y 1&Te), 70. 000 m3 172.5 54,075 | S| 465
AV, 1. 0kmPL T
KA+ 5 T HA - HA
B, 797V, dm3, KA D 548, 50, 72 L 70. 000 % 1, 481 103,670 | SH 26%
KA LoH T A - LA
sz, 977v=yIv=y, , Im3, R ADH I, HY, 22 L 70. 000 1’ 736 51,520 | sHL 275
RS2 HA - HA
ANHE, 2y (L0, 28m3 CTEA0. 2m3), LA CHBE- EAIRY L& te), 70. 000 n3 772.5 54,075 | S¥ 465
AHY, L 0kmEL T
PN w2 HA A
-8, AR () 70. 000 m3 926.4 64,848 | S| 415
KT+ 587% LRGA WA - BA
D, AN (B HE) 70. 000 m3 926.4 64,848 | S¥ 425
SP b ST HA - HA
EUE, Ny 89 L0, 8m3 CFAH0. 6m3) , L) CHIL- EAIRY L5T0), HY 70. 000 w3 1,069 74,830 | S 475
, 6. 0OkmPA T
Tyt A - HA
70. 000 n3 3,600 252,000 | s 19%
it 1,056, 104
TEMHBUIT ("R 1T K&y
1.000 = 1,108, 408 1,108,408 | B¥ 5%
KRto>T MEA - A
B, - BT, I3, KA E 0548 7L, e L 70. 000 4% 3,871 271,390 | SH 25%
KA L HERGARGE) (FZ[H) HA - HA
70. 000 m3 1,007 70, 490
KA LSEEM (W) A - HA
L=1. OkmPA T 70. 000 n3 848 59, 360
KA LgEaRE (W) HA A
FI7T V7 L—r i ERE25t 70. 000 m3 1,769 123,830 | TH 55
KA 58 () WA HEA
F7F7LV s L—r B EREN25t 70. 000 m3 883 61,810 | TH 67
KA+ SEEM () A - HA
L=1. Okm&A 70. 000 w3 848 59, 360
KA FERGARR D (F) A HA
70. 000 m3 1,007 70, 490
KA1 385% LATA HA - HLA
H, AR () 70. 000 w3 926.4 64,848 | s 425
SP LED ST A - HA
FEAE, N9/ (L FEO. 8m3 CTAE0. 6m3), Y CEHL- iRy +5E), AV 70. 000 n3 1,069 74,830 | S¥ 477
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& & 2,164,512
.« . 7](%1
1. 000 = 1,316, 000




TEBRMEF v sk (3
EEZANESSIEN |
[Tox [ BAEROKESE (3) 1% |
TR LA A E M OK B dds (3) LIF
R NCTE) i L il & [
KB 1Kty
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kA 7 RBGRE - s A - BA
SRR - i 2.000 | fEmr 8. 354 16,708 | s 315
AR TR O nR) SEA - BEA
A€ 100mm, &Y 2.000 | f#ir 47, 495 94,990 | s 33%
PR 7S (AR A A
113, (IR, 0L b~ 64, B IR, & 0 2.000 | i 315, 229 630,458 | s 328
RS AR A - HA
Bl ~ R~ 5, 1135 2.000 | fEpr 156, 744 313,488 | s 364
IR B iR HEA - HLA
=, 14, B EA~ AR~ 1131 60.000 | m 1,188 71,280 | S 375
ek TRt A - HA
1~5%, 7L 2.000 | AT 78, 701 157,402 | sy 298
kA o 7 A HA
1, SR, OBL b~ 404, RaFIAEIH, 70 L 5.000 | f#AT 3,567 17,835 | s o285
it 1,315, 769
& 1,315, 769
1.000 | =t 1, 409, 000
BHYEHE 1Ry
1.000 | st 1,408, 944 1,408,944 | BE 718
AT B B HA - HA
96.000 | A 12,285 1,179,360 | S 16%
SOEFHEGEMA (B) &I SRA - BEA
16.000 | A 14,349 229,584 | sHL 175
Fiy 1,408, 944
& 1,408, 944
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- SERER (BELE)
1.000 | st 71,000
- - RBH
1.000 | st 71,000
ENEAHE 1A
1.000 | =t 70, 560 70,560 | B& 8%
A A A
9 8.000| A 8,820 70, 560
i 70, 560

70, 560
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TR LA A E M OK B dds (3) LIF
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10, 000
BRAHER
1.000 | st 10, 000
RAHER
1.000 | st 10, 000
BRAHER 1KLY
1.000 | =t 10, 400 10,400 | B& 9%
-0 AR R JRA - HA
2RI/ REE L X AoV Bk 1.000 | st 10, 400 10, 400
Fi 10, 400
& 3 10, 400
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Fi 7,100
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